FR2EE BRTTERASEKEASYyI—BE ASEE

it

b4

(53

ESRRIREH
2 | o F3-FAR KRR TEH
0—0
0—0
2-0 T4 RTINS ER (BXEF1LKFK)
— Sebe AR -t == e
ot BEGIXERER (RXRE2RR) 2
[ e
12 4 o /3L RETHILALERER (BXRXEFIRFEK) =
— — Iebe AN —
oS 2ol |BB3ML I B AT PER (I;rj(A 44X 3K) 172
EESREKX BEATILEPER (BRXEFESKRKR)
3 LN it ﬂi =
R & = i 5
s & 3 I 0 z
¥ ¥ ¥ s 2—-0 £
& ® ® G 1—0 3
4 0 2 1
2—0 1—0
2—0 1—1
17 0 1 0 0 0 5
8-0 0-0 1-0 0-2
9-0 1-0 0-0 0-3
7 0 3 2 1 2 0 3 8 0 7 0 1 1 0 3
3-0 0-0 1-0 0-1 5-0 3-0 0-1 0-1
4-0 3-2 0-2 0-2 3-0 4-0 1-0 0-2
4 PK
0-3 2-4
|‘0_1
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17
& T % ) 8 s 2 35, 0 K il B 1 is it B 1
il N B B ] 55 A 7 = i | = m 0 BT B
i B L G mh m L th o o o o ch th th o
-2 th ) o ] ] th -2 B ) ) g 2 -2 o 2 )
1% = 1 = 1 1 # 1% 1% 1 1 1 1% 1% = 1% 1
% 1% 1% 1%



H22 R -KEMRPERBEATRE Fuh—dmik

Kiérp R¥h ERERAF ZAH KRFh BoR| 7R | &R | /JEA| B
P 5 [ l:g } 0|9 [ g:g : 0|4 [ ;:g J 013 [ S:g J of 12 31 0 31 1
H¥h 0 :8:411: 5 1 [(1):?\ 1|1 :(1):8 0|7 :;:g Jo 7 9 6 3 2
ZREF |0 :gi : 9|1 :?1 : 1 0 \8f 3|2 \:1 J1 4 3 14 -1 4
ZR% 0 :8:;: 4]0 :8:(1): 13[?Z8J0 11FEZ8J0 6 14 5 9 3
KFch 0 : 8:‘75 : 13| 0 : 8:; : 7|1 [ 8:1 J 2|0 [ 8:2 J 11 0 1 33 -32 5

MLDKREFFARITBR R HIS



